EBA 11 &0 3 LQ.C;[-‘\L*Q_’ 20, 9 Nov. 2022 , Ruuser e
W

Plan @ 4. ‘V\AP\TCJ’\’ c\.i’)%c‘e_rzvc\-'f@‘\'ﬂf\tf\/\
2. The second deciuvediue cwsl croveiurl

3. Couviex o-Ptvu T BQ'A_’\M

1. \w\?\}c,?\" A}.‘:{—Qr&w-\-\"\c..-\—‘\s\,\
_F_f A cwroe is SupUor iy A—"—G‘\"‘&OQ \02‘-
@)
—\-\«-Q -Q%_\Jgok‘\;l\()’\/\ [752_. )(3 = T}

a) Expren> j' by X ounol g WeTvy
Tuap et Anffe T o

b) Fraat olf sl o S %" 9 wd ban

o) CMva\_—Q j/ ‘gc?"‘ e e ’F(?W\QC&E

3) Frech Hao [unciion @xpreX>omnis?
for v ’\'ekbg%/(/\,c(— Guelsy af x =2 -

=2

Solbufon ;
= A i ,
o) (Y )x - (Ks)x = U )x
Ploaii volly M = L e u’
ul =yl 9 (u) = #4
Co (‘jz); = 2u- Yy - lﬂj
. /
23 . 3XZ — O,)_ mSélA&gN:j
] 23.3. - 3% ) |« 2y
/ N 2&4}/




Yyo= oy =9
y= =3
3.29°
V23 0y = 7.3 ==
| 3.2%
- : o= - -2
(R,-3 J 2 63)

J) FTO‘-W“?’Z—\»C)C U we "\‘\/u-e—b\a/\/\ <2 b 33 :

Wix) =3 = 2(x-2)

So Wiy = 2x — |

e ——

3(@ ~ (-3) = 2. (x—2)

so qk) = — 24X+ )

—







2 The ancomel ovelir desoaitoR awel curvaheg

Qeuolivg  up h&wo\»\,\q doww
k jd\P\/‘S -g raph s 0
SR ” EW\C\“MS fcw(zcg/ue TM\AQ%EV\S
27
|
!
l )
) CX‘O«/\ 3:&\)
i \\/‘%
e >
’-_——\o///——\‘,_/C\ - §
L£xy TS comvoRx Loy 35 comcenv®
Defsiaion

.‘ £ IS uueX v N Tubervel LA, b ]C
CH(x) = o JSZW M x iaw Lo, b>

c fixy Ts comcape T e Vadeeu=d Lasb) ™
() $0 fo oM X Tw Lay b



Nole |f £0x) 75 comwvex, T £10x) Ts au
TwCreoas 'gm«c o
£ flxy s emcave How A Ty @
dicraoumxg %M\AC\?O\A-

Second derroetiue 4ok ((sec. 8.S)

5w steliaany N for 1099

-SAAF'POS—& X = A
Lg —&“(Q) s o5 Hawn X=a 7s < (\occ..Q)

A UG M AL ’PO:\L(_"( g =’S:(’<>

CoUuuve X
Nu ()50

a
Ts & ([OQQ«Q>

flay=o
? X

K ‘P‘(C\) <o Py x =AK

A X T maama Vsl concane
'{::)-/;::0 TC"(Q) =°
Y= 6
:

3
E ’F(’() = x —3x*4+5 . Fiud local Moxx)wiu.?o?»(\&
b3 Wstus He secomel dLTonhior
wfs o> o zolutians o Tl

R *— bx = O



it X =0 lom /X:2

Coalcew\ ade —Q“{x\ = Y,’F'(A)] = GX = 6X>
= EK—"G
£%0) = 6-0—6=76<C

(o W ANVIRVAV N Palile
So =0 7> <« UOC"VQ> wA T

3}"(2) - L 2-6=05b >0

NS v UWMA 3N
sy X=2 T = (“”CQ‘)> e s ?

<

—

3. Covtoex 6?4-\\\»«5« So:ﬂ—\"‘o-v\

Fact | g— %CK DTS ?cm.u..zlg Q\»-Q_\*:B w k=<
Ju tFs domeaw | o owt& S‘%-ﬂh’\auqrj

Aud 3R oy T> comeomws
Y s Aoviaiv, (ow 'T»c\-Qr\T"J) 3 ARV awa/

S“(‘etJ(:\\G‘\AOxP3 ?O_’;\,\J‘, s & %\Oqu waax . ?d?\&_& .
Ex L(x) = x +5X +3S e o
- Ve, > = R
a) Trwl i, st=tourtia v~3 pS wls

b) De de AT ':_g- -\-\A.,Qﬂ a e, %\obq,o wmeax . o WG u. ﬁ%

®

c) — — Ve QK%Q\MQ_Q e Lu QN .



SolatTeon

' 3
a) Catcuw\ ek %CX) = Yx "+ 10X

s
5’\“\‘\\0“/\0\3 ?o;»c*;> ave 5Om+1\0'\45 -\-o .
3

(;&C{-&(‘)

29 Hy +— lOX

x (ux? +10) = ©

e
< < = O ‘\)“\'\,g__..c'u\/jsom\cm_
& p—

u 2,
b) Calcu|ate ’fo) = I12x 10
Whichh 1o Bv—LOL
Ak X



